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17. A sum of money doubles itself in 5 years. In how

17. 0% GeRIA 5 a¥ & 2 @ S @) o
many years will it become four fold ( if the interest is ast ¥ I 9N Lol snm (afe s

compounded) ,0( ol , 2 ? m &)
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18. Divide Rs. 3903 between Amar and Akbar such

a. Amar=Rs.2028 Akbar=Rs. 1875 =(| 4 |

b. Amar= Rs. 2008 Akbar= Rs. 1000 ZS’

c. Amar=Rs. 2902 Akbar=Rs. 1001 —

d. Amar= Rs. 2600 Akbar= Rs. 1303 )
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a. AAT= ¥ 2028 HAhal = ¥ 1875

b. ¥3AT = ¥ 2008 H&HaY = ¥ 1000
cm=$2902m=$1001
d JIAT = § 2600 A&l = § 1303
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19. A sum of money is borrowed and paid back in  19. U&_UaU 3UR & ST 882 I9Y A 2
. : A afts et & aE soas f St g S
two equal annual instalments of Rs. 882 , allowing - s A Mﬁi‘ﬁiﬁ ¥ suR & 7 AR
5% compound interest . The sum borrowed was O —
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a. Rs.1640 \\\—{—;XK?Z+ 2
b. Rs.1680 ?)YW b. ¥. 1680
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808 due in 2 years at 2% per annum?

Rs.200 4 +\<'+’"’> oY a% 200

b. Rs.300 b. ¥. 300 C= Koy
c. Rs4oo—')’k—k‘>\>( K45 = g6y c. §.400 — +- A
d. Rs.350 o X RN x
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, , 21. 0% =fFq A _12.5% affs awgef@ &ure
with 12.5% interest compounded yearly. At the end of 22 800 $9A FT IMWEATeT T GBS A€ F 3
first year he paid Rs. 8,650 and at the end of second ¥ 38« 8,650 ¥4 3T gWY a¥ & 3a # 9,125
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21. A person bought a refrigerator worth Rs. 22,800

ar Rs. 9,125. How much will he have to at the
L it 7 FAT gIIM
end of third year to clear the debt‘?/\7 1 UPSC PT
UPSC PT 20 /
2L g +—
a. Rs.9,990 \j‘(@ 7/13\ X
|
b. Rs. 10,000
c. Rs. 10,590 B
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22. A principal P becomes Q in 1 year when 22.UF HAYUA P, R% A& &1 & & WY

s sy Fafa FA W1 af A qas
ST &1 AR A HAYUT P, 5% AUS &UTH T F
interest. If the same principal P becomes Q in 1 year Ty aNs s a1 af F g

when compounded annually with 5% annual rate of ST B, eiaf@a 7 | Fla a w7
g‘: UPSC PT 2023
interest, then which one of the following is correct? ? ‘ | /
|
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®/ HO‘LX a. R=S. §+S+T)<& PR
b. R>S

b. S \yR(S L /,0‘1‘3

d. RsS

compounded half-yearly with R% annual rate of
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